Posted by piplite on Fri, 14 Mar 2008 17:23:09 GMT

View Forum Message <> Reply to Message

2.

[root@svarog pip]# ping X.X.X.X

PING x.x.x.X (X.x.X.xX) 56(84) bytes of data.

64 bytes from x.x.x.x : icmp_seq=1 ttI=64 time=1.08 ms
64 bytes from x.x.x.x : icmp_seq=2 ttI=64 time=1.26 ms
64 bytes from x.x.x.x : icmp_seq=3 ttI=64 time=1.49 ms
64 bytes from x.x.x.x : icmp_seq=4 ttI=64 time=1.20 ms
64 bytes from x.x.x.x : icmp_seq=5 ttI=64 time=1.47 ms
64 bytes from x.x.x.X : icmp_seq=6 ttI=64 time=2.12 ms

--- X.X.X.X ping statistics ---
6 packets transmitted, 6 received, 0% packet loss, time 5000ms
rtt min/avg/max/mdev = 1.081/1.442/2.128/0.340 ms

1.

[pip@veles ~]$ ping X.X.X.X

PING x.x.x.x 56(84) bytes of data.

64 bytes from x.x.X.x : icmp_seq=1 ttI=64 time=401 ms
64 bytes from x.x.x.X : icmp_seq=2 ttl=64 time=403 ms
64 bytes from x.x.x.x : icmp_seq=3 ttI=64 time=401 ms
64 bytes from x.x.x.x : icmp_seq=4 ttI=64 time=400 ms
64 bytes from x.x.x.x : icmp_seq=5 ttl=64 time=403 ms
64 bytes from x.x.x.X : icmp_seq=6 ttI=64 time=402 ms
64 bytes from x.x.x.x : icmp_seq=7 ttI=64 time=400 ms

Page 1 of 2 ---- Generated from OpenVZ Forum


https://new-forum.openvz.org/index.php?t=usrinfo&id=2450
https://new-forum.openvz.org/index.php?t=rview&th=5678&goto=28366#msg_28366
https://new-forum.openvz.org/index.php?t=post&reply_to=28366
https://new-forum.openvz.org/index.php

--- X.X.X.X ping statistics ---
7 packets transmitted, 7 received, 0% packet loss, time 6091ms
rtt min/avg/max/mdev = 400.588/401.903/403.928/1.219 ms

2.6.18-53.1.4.el5.028stab053.4
Server: ibm x345
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